
E14= 2,10μ*2,45m= 5,15τ.μ.
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ΜΟΝΟΩΡΟΦΟ ΚΤΙΡΙΟ (θυρωρείο)

V2= 33,11τ.μ. * 3,80μ + (121,00-33,11)τ.μ.*

6,74μ = 718,20κ.μ.

8
,
8
3

Ε(4-5-τ-ε-δ-υ-4) = 121,00 τ.μ.

2

3

,
4

3

ΥΠΑΓΩΓΗ ΣΤΟΝ Ν.4178/2013

7

,

6

6

9

,
5

1

3

8
,
7
7

2
5
,2

1

ΔΙΩΡΟΦΟ ΚΤΙΡΙΟ

2

3

,
4

2

V3= 221,85τ.μ. * 4,85μ = 1075,97κ.μ.

7

,

5

8

E3=

1

2

*25,21μ * (8,83+8,77)μ = 221,85τ.μ.

9

,
4

5

4

ΥΠΑΓΩΓΗ ΣΤΟΝ Ν.4178/2013

ΥΠΑΓΩΓΗ ΣΤΟΝ Ν.4178/2013

3

Ε(ε-ζ-ο-σ-τ-ε) = 221,85 τ.μ.

Ε(ο-π-ρ-σ-ο) = 17,00 τ.μ.

ΜΟΝΟΩΡΟΦΟ ΚΤΙΡΙΟ

3

,
4

1

3

,
7

5

E4=3,75μ* 

1

2

*(4,54+4,53)μ = 17,00τ.μ.

3

,
7

5

8

,
0

8

7

.
0

1

4

,
0

1

V4= 17,00τ.μ.*

1

2

*(4,89+4,10)μ= 76,42κ.μ.

3

,
4

8

4

4

,
5

4

4

,
0

5

6

.
8

2

ΥΠΑΓΩΓΗ ΣΤΟΝ Ν.4178/2013

Ε(λ-μ-ν-ξ-λ) = 27,84 τ.μ.
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ΜΟΝΟΩΡΟΦΟ ΚΤΙΡΙΟ (Β.Χ.1)
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ΜΟΝΟΩΡΟΦΟ ΚΤΙΡΙΟ (Β.Χ.2)
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V9= 21,00τ.μ.* 4,88μ= 102,48κ.μ.

V7= 723,93τ.μ.* 4,85μ= 3.511,06κ.μ.
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ΔΙΩΡΟΦΟ ΚΤΙΡΙΟ

Ε(α-α'-β-........-ε-δ-α) = 723,93 τ.μ.
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ΕΞΩΤΕΡΙΚΟΣ ΑΝΕΛΚΥΣΤΗΡΑΣ

Ε (14) = 5,15 τ.μ.

V14= 5,15τ.μ*4,85m= 24,97κ.μ.
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